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The Inverting Amplifier with Reactive Elements

Consider the following inverting amplifier, where the resistors have been replaced with complex impedances:
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What is 
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We apply KCL and KVL, as well as the complex form of Ohm’s Law:
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Therefore:
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where, since 
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and:
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therefore:
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Rearranging, we find:
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Recall that the variable s is a complex frequency 
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.  If we set 
[image: image10.wmf]0

s

=

, then 
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, and our transfer function 
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 in the Laplace domain can be written in the frequency (i.e., Fourier) domain!
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And therefore:
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